Q1.
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47.
(27021-!-item-!-188;#058&003068)

1998 saw several new ventures promoting online distance learning both at the college and graduate level, but also faculty members in large numbers began questioning whether the computer screen was an adequate replacement for the classroom.

(A) 1998 saw several new ventures promoting online distance learning both at the college and graduate level, but also faculty members in large numbers began

(B) In 1998 several new ventures were promoting online distance learning for both college-and for graduate-level courses, but it was also a year for a large number of faculty members who began

(C) With several new ventures promoting online distance learning both for college and graduate courses in 1998, it was also a year when a large number of faculty members had begun

(D) Although 1998 saw several new ventures promoting online distance learning for both college- and graduate-level courses, it was also a year when a large number of faculty members began

(E) Several new ventures were promoting online distance learning in 1998, at both the college level as well as the graduate, but it was also a year for faculty members to begin in large numbers

Q2. 
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48.
(27067-!-item-!-188;#058&003096)

Whereas scientists, because of random fluctuations in the weather, cannot determine the transition from one season to the next by monitoring temperatures on a daily basis, so they cannot determine the onset of global warming by monitoring average annual temperatures.

(A) Whereas scientists

(B) Just as scientists

(C) Like scientists who

(D) Inasmuch as a scientist

(E) In the same way a scientist
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31.
(31838-!-item-!-188;#058&005455)

Manufacturers issue cents-off coupons to get consumers to try their brand of product with the hope that the consumers who try their brand will switch their brand loyalty.  So in the initial marketing of their new brand X, Hartman Industries should issue cents-off coupons, thereby attracting a large segment of potential consumers as loyal customers.

Which of the following, if true, casts the most serious doubt on the likelihood that the marketing strategy recommended above will have the result that is claimed?

(A) Many consumers are unlikely to try new brands of products unless offered an inducement to do so.

(B) The consumers whose purchases are strongly influenced by cents-off coupons tend not to become loyal customers of any particular brand.

(C) Many grocery stores attract customers by doubling the face value of manufacturer's coupons.

(D) Typically less than one-third of the coupons issued by a manufacturer are redeemed by consumers.

(E) A marketing campaign that uses cents-off coupons is most effective when combined with a television advertising campaign.
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32.
(31886-!-item-!-188;#058&005509)

State spokesperson:  Many businesspeople who have not been to our state believe that we have an inadequate road system.  Those people are mistaken, as is obvious from the fact that in each of the past six years, our state has spent more money per mile on road improvements than any other state.

Which of the following, if true, most seriously undermines the reasoning in the spokesperson's argument?

(A) In the spokesperson's state, spending on road improvements has been increasing more slowly over the past six years than it has in several other states.

(B) Adequacy of a state's road system is generally less important to a businessperson considering doing business there than is the availability of qualified employees.

(C) Over the past six years, numerous businesses have left the spokesperson's state, but about as many businesses have moved into the state.

(D) In general, the number of miles of road in a state's road system depends on both the area and the population of the state.

(E) Only states with seriously inadequate road systems need to spend large amounts of money on road improvements.

Q5-Q7

Essay #5.  118
(21825-!-item-!-188;#058&00118-00)

Historians have identified two dominant currents in the Russian women's movement of the late tsarist period.  "Bourgeois" feminism, so called by its more radical opponents, emphasized "individualist" feminist goals such as access to education, career opportunities, and legal equality.  "Socialist" feminists, by contrast, emphasized class, rather than gender, as the principal source of women's inequality and oppression, and socialist revolution, not legal reform, as the only road to emancipation and equality.

However, despite antagonism between bourgeois feminists and socialist feminists, the two movements shared certain underlying beliefs.  Both regarded paid labor as the principal means by which women might attain emancipation:  participation in the workplace and economic self-sufficiency, they believed, would make women socially useful and therefore deserving of equality with men.  Both groups also recognized the enormous difficulties women faced when they combined paid labor with motherhood.  In fact, at the First All-Russian Women's Congress in 1908, most participants advocated maternity insurance and paid maternity leave, although the intense hostility between some socialists and bourgeois feminists at the Congress made it difficult for them to recognize these areas of agreement.  Finally, socialist feminists and most bourgeois feminists concurred in subordinating women's emancipation to what they considered the more important goal of liberating the entire Russian population from political oppression, economic backwardness, and social injustice.
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Question #14.  118-03
(21871-!-item-!-188;#058&000118-03)

The passage suggests that socialists within the Russian women's movement and most bourgeois feminists believed that in Russia

(A) women would not achieve economic equality until they had political representation within the government

(B) the achievement of larger political aims should take precedence over the achievement of women's rights

(C) the emancipation of women would ultimately bring about the liberation of the entire Russian population from political oppression

(D) women's oppression was more rooted in economic inequality than was the case in other countries

(E) the women's movement was more ideologically divided than were women's movements in other countries 
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Question #15.  118-05
(21917-!-item-!-188;#058&000118-05)

The passage is primarily concerned with

(A) identifying points of agreement between two groups

(B) advocating one approach to social reform over another

(C) contrasting two approaches to solving a political problem

(D) arguing that the views espoused by one political group were more radical than those espoused by another group

(E) criticizing historians for overlooking similarities between the views espoused by two superficially dissimilar groups 
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Question #16.  118-06
(21963-!-item-!-188;#058&000118-06)

According to the passage, Russian socialists within the women's movement and most bourgeois feminists disagreed about which of the following?

(A) Whether legal reform was central to the achievement of feminist goals

(B) Whether paid employment was important for the achievement of equality

(C) Whether maternity insurance was desirable for working mothers

(D) Whether working mothers faced obstacles

(E) Whether women's emancipation should be subordinated to the liberation of the Russian population 

Q8-Q11

Essay #6.  145
(21972-!-item-!-188;#058&00145-00)

Colonial historian David Allen's intensive study of five communities in seventeenth-century Massachusetts is a model of meticulous scholarship on the detailed microcosmic level, and is convincing up to a point.  Allen suggests that much more coherence and direct continuity existed between English and colonial agricultural practices and administrative organization than other historians have suggested.  However, he overstates his case with the declaration that he has proved "the remarkable extent to which diversity in New England local institutions was directly imitative of regional differences in the mother country."

Such an assertion ignores critical differences between seventeenth-century England and New England.  First, England was overcrowded and land-hungry; New England was sparsely populated and labor-hungry.  Second, England suffered the normal European rate of mortality; New England, especially in the first generation of English colonists, was virtually free from infectious diseases.  Third, England had an all-embracing state church; in New England membership in a church was restricted to the elect.  Fourth, a high proportion of English villagers lived under paternalistic resident squires; no such class existed in New England.  By narrowing his focus to village institutions and ignoring these critical differences, which studies by Greven, Demos, and Lockridge have shown to be so important, Allen has created a somewhat distorted picture of reality.

Allen's work is a rather extreme example of the "country community" school of seventeenth-century English history whose intemperate excesses in removing all national issues from the history of that period have been exposed by Professor Clive Holmes.  What conclusion can be drawn, for example, from Allen's discovery that Puritan clergy who had come to the colonies from East Anglia were one-third to one-half as likely to return to England by 1660 as were Puritan ministers from western and northern England?  We are not told in what way, if at all, this discovery illuminates historical understanding.  Studies of local history have enormously expanded our horizons, but it is a mistake for their authors to conclude that village institutions are all that mattered, simply because their functions are all that the records of village institutions reveal. 
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Question #17.  145-03
(22018-!-item-!-188;#058&000145-03)

According to the passage, which of the following was true of most villages in seventeenth-century England?

(A) The resident squire had significant authority.

(B) Church members were selected on the basis of their social status within the community.

(C) Low population density restricted agricultural and economic growth.

(D) There was little diversity in local institutions from one region to another.

(E) National events had little impact on local customs and administrative organization. 
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Question #18.  145-05
(22064-!-item-!-188;#058&000145-05)

The passage suggests that Professor Clive Holmes would most likely agree with which of the following statements?

(A) An understanding of seventeenth-century English local institutions requires a consideration of national issues.

(B) The "country community" school of seventeenth-century English history distorts historical evidence in order to establish continuity between old and new institutions.

(C) Most historians distort reality by focusing on national concerns to the exclusion of local concerns.

(D) National issues are best understood from the perspective of those at the local level.

(E) Local histories of seventeenth-century English villages have contributed little to the understanding of village life. 
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Question #19.  145-07
(22110-!-item-!-188;#058&000145-07)

It can be inferred from the passage that the author of the passage considers Allen's "discovery" (see highlighted text) to be

(A) already known to earlier historians

(B) based on a logical fallacy

(C) improbable but nevertheless convincing

(D) an unexplained, isolated fact

(E) a new, insightful observation 
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Question #20.  145-08
(22156-!-item-!-188;#058&000145-08)

The author of the passage is primarily concerned with

(A) substantiating a claim about a historical event

(B) reconciling two opposing ideas about a historical era

(C) disputing evidence a scholar uses to substantiate a claim about a historical event

(D) analyzing two approaches to scholarly research and evaluating their methodologies

(E) criticizing a particular study and the approach to historical scholarship it represents 

Q12. 
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33.
(31934-!-item-!-188;#058&005658)

When a caterpillar emerges from the egg on a tree branch, it immediately climbs upward until it finds a leaf bud to eat.  Biologists thought that this behavior displayed an innate tendency to move in the direction opposite to the pull of gravity.  In a recent experiment, a strong light source was placed at the bottom of a tree, and caterpillars, after hatching, climbed downward.

Which of the following hypotheses is best supported by the statements given?

(A) Caterpillars have an innate tendency to move in the direction of gravity.

(B) Newly hatched caterpillars are unable to see in the dark.

(C) Newly hatched caterpillars move towards the strongest light source in the environment.

(D) Newly hatched caterpillars move toward the leaf bud nearest to them.

(E) The eyes of newly hatched caterpillars become less sensitive to light over time.

Q13. 
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49.
(27113-!-item-!-188;#058&003110)

The automobile company announced that the average price of next year's models would decrease four-tenths of one percent, amounting to about $72, as compared with comparably equipped cars and trucks this year.

(A) The automobile company announced that the average price of next year's models would decrease four-tenths of one percent, amounting to about $72, as compared with comparably equipped cars and trucks this year.

(B) The automobile company announced that the average price of next year's cars and trucks would decrease four-tenths of one percent, or about $72, from that of comparably equipped models this year.

(C) The automobile company announced that there would be a decrease of four-tenths of one percent in next year's models' average price, or about $72, below this year's comparably equipped cars and trucks.

(D) Compared to comparably equipped models this year, the automobile company announced that the average price of next year's cars and trucks would decrease about $72, less by four-tenths of one percent.

(E) Contrasted with comparably equipped cars and trucks of this year, the automobile company announced that the average price of next year's models would decrease about $72, or four-tenths of one percent.
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50.
(27159-!-item-!-188;#058&003134)

Many teenagers undergo stress, but results of a recent study indicate that the patterns of stress that girls experience are more likely to result in depression than are those that boys experience.

(A) are those that boys experience

(B) what boys experience

(C) boys' experience would

(D) boys' stress patterns do

(E) stress patterns of boys

Q15. 
p1-cr
34.
(31982-!-item-!-188;#058&005681)

For several years, per capita expenditure on prescription drugs in Voronia rose by fifteen percent or more annually.  In order to curb these dramatic increases, the ministry of health prohibited drug manufacturers from raising any of their products' prices.  Even though use of prescription drugs did not expand after this price freeze, per capita expenditure for prescription drugs continued to increase by a substantial percentage each year.

Which of the following, if true, most helps to explain why the ministry's action did not achieve its goal?

(A) After price increases were prohibited, drug manufacturers concentrated on producing new medications to replace existing products.

(B) The population of Voronia rose steadily throughout the period.

(C) Improvements in manufacturing processes enabled drug manufacturers to maintain high profit levels on drugs despite the price freeze.

(D) In addition to imposing a price freeze, the government encouraged doctors to prescribe generic versions of common drugs instead of the more expensive brand-name versions.

(E) After price increases were prohibited, some foreign manufacturers of expensive drugs ceased marketing them in Voronia.

Q16. 
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35.
(32076-!-item-!-188;#058&006018)

Which of the following most logically completes the argument?

The last members of a now-extinct species of a European wild deer called the giant deer lived in Ireland about 16,000 years ago.  Prehistoric cave paintings in France depict this animal as having a large hump on its back.  Fossils of this animal, however, do not show any hump.  Nevertheless, there is no reason to conclude that the cave paintings are therefore inaccurate in this regard, since __________.

(A) some prehistoric cave paintings in France also depict other animals as having a hump

(B) fossils of the giant deer are much more common in Ireland than in France

(C) animal humps are composed of fatty tissue, which does not fossilize

(D) the cave paintings of the giant deer were painted well before 16,000 years ago

(E) only one currently existing species of deer has any anatomical feature that even remotely resembles a hump
Q17. 
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36.
(32124-!-item-!-188;#058&006025)

Outsourcing is the practice of obtaining from an independent supplier a product or service that a company has previously provided for itself.  Vernon, Inc., a small manufacturing company that has in recent years experienced a decline in its profits, plans to boost its profits by outsourcing those parts of its business that independent suppliers can provide at lower cost than Vernon can itself.

Which of the following, if true, most strongly supports the prediction that Vernon's plan will achieve its goal?

(A) Among the parts of its business that Vernon does not plan to outsource are some that require standards of accuracy too high for most independent suppliers to provide at lower cost than Vernon can.

(B) Vernon itself acts as an independent supplier of specialized hardware items to certain manufacturers that formerly made those items themselves.

(C) Relatively few manufacturers that start as independent suppliers have been able to expand their business and become direct competitors of the companies they once supplied.

(D) Vernon plans to select the independent suppliers it will use on the basis of submitted bids.

(E) Attending to certain tasks that Vernon performs relatively inefficiently has taken up much of the time and effort of top managers whose time would have been better spent attending to Vernon's core business.
Q18. 
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51.
(27205-!-item-!-188;#058&003142)

Gasoline marketing is undergoing major changes as stations often not only add convenience stores but also combine with major fast-food chains to build complexes where customers can shop and eat as well as buy gasoline.

(A) not only add convenience stores but also combine with major fast-food chains to build

(B) not only add convenience stores but also they combine with major fast-food chains to build

(C) are not only adding convenience stores but also in combination with major fast-food chains they build

(D) add not only convenience stores, but also combining with major fast-food chains to build

(E) are not only adding convenience stores, but also in combining with major fast-food chains they build

Q19. 
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52.
(27251-!-item-!-188;#058&003145)

In addition to her work on the Miocene hominid fossil record, Mary Leakey contributed to archaeology with her discovery of the earliest direct evidence of hominid activity and painstakingly documenting East African cave paintings.

(A) Leakey contributed to archaeology with her discovery of the earliest direct evidence of hominid activity and painstakingly documenting

(B) Leakey contributed to archaeology by her discovery of the earliest direct evidence of hominid activity and by painstakingly documenting

(C) Leakey was a contributor to archaeology with her discovery of the earliest direct evidence of hominid activity and with her painstaking documentation of

(D) Leakey's contributions to archaeology include her discovery of the earliest direct evidence of hominid activity and her painstaking documentation of

(E) Leakey's contributions to archaeology include discovering the earliest direct evidence of hominid activity and painstaking documentation of

Q20. 
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53.
(27297-!-item-!-188;#058&003151)

Most vaccines are derived from weakened or killed strains of the same virus that they prevent, unlike the derivation of smallpox vaccine from a different virus altogether.

(A) the derivation of smallpox vaccine from a different virus altogether

(B) smallpox vaccine, which is derived from a different virus altogether

(C) smallpox's vaccine, which gets derived from a different virus altogether

(D) when smallpox vaccine is derived from an altogether different virus

(E) the altogether different virus from which smallpox vaccine is derived

Q21. 
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37.
(32356-!-item-!-188;#058&006101)

Capuchin monkeys in Venezuela often rub a certain type of millipede into their fur.  Secretions of these millipedes have been shown to contain two chemicals that are potent mosquito repellents, and mosquitoes carry parasites that debilitate the capuchins.  The rubbing behavior is rare except during the rainy season, when mosquito populations are at their peak.  Therefore, the monkeys probably rub the millipedes into their fur because doing so helps protect them against mosquitoes.

Which of the following would it be most useful to determine in order to evaluate the argument?

(A) Whether the two chemicals provide any protection for the millipedes against their own predators

(B) Whether the type of millipede used by the capuchin monkeys in Venezuela is found in other parts of the world

(C) Whether animals other than capuchins rub insects of any kind into their fur

(D) Whether the only time the millipedes are readily available to the capuchins is during the rainy season

(E) Whether secretions of any other insects accessible to the capuchins contain chemicals that repel mosquitoes
Q22. 
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38.
(32404-!-item-!-188;#058&006157)

Which of the following most logically completes the argument below?

When interest rates are high, insurance companies reduce the premiums they charge for many kinds of insurance policies.  The reason is that insurance companies want to take in as much money as possible in premiums so that they can invest the money at high rates of interest.  And premium reductions help achieve this objective, since __________.

(A) interest rates are likely to decrease when large amounts of money are available for loans

(B) smaller insurance companies are not able to amass enough money to take advantage of investing at high interest rates

(C) insurance companies can sell many more insurance policies if they charge lower premiums than they would if they left premiums unchanged

(D) an increase in the number of policies sold eventually leads to an increase in the number of claims that an insurance company has to pay

(E) the number of claims that insurance companies pay increases at a higher rate than does the number of policies that the insurance companies can sell at the lower premiums
Q23-Q26

Essay #7.  146
(22165-!-item-!-188;#058&00146-00)

The United States government has a long-standing policy of using federal funds to keep small business viable.  The Small Business Act of 1953 authorized the Small Business Administration (SBA) to enter into contracts with government agencies having procurement powers and to arrange for fulfillment of these contracts by awarding subcontracts to small businesses.  In the mid-1960's, during the war on poverty years, Congress hoped to encourage minority entrepreneurs by directing such funding to minority businesses.  At first this funding was directed toward minority entrepreneurs with very low incomes.  A 1967 amendment to the Economic Opportunity Act directed the SBA to pay special attention to minority-owned businesses located in urban or rural areas characterized by high proportions of unemployed or low-income individuals.  Since then, the answer given to the fundamental question of who the recipients should be--the most economically disadvantaged or those with the best prospects for business success--has changed, and the social goals of the programs have shifted, resulting in policy changes.

The first shift occurred during the early 1970's.  While the goal of assisting the economically disadvantaged entrepreneur remained, a new goal emerged:  to remedy the effects of past discrimination.  In fact, in 1970 the SBA explicitly stated that their main goal was to increase the number of minority-owned businesses.  At the time, minorities constituted seventeen percent of the nation's population, but only four percent of the nation's self-employed.  This ownership gap was held to be the result of past discrimination.  Increasing the number of minority-owned firms was seen as a way to remedy this problem.  In that context, providing funding to minority entrepreneurs in middle- and high-income brackets seemed justified.

In the late 1970's, the goals of minority-business funding programs shifted again.  At the Minority Business Development Agency, for example, the goal of increasing numbers of minority-owned firms was supplanted by the goal of creating and assisting more minority-owned substantive firms with future growth potential.  Assisting manufacturers or wholesalers became far more important than assisting small service businesses.  Minority-business funding programs were now justified as instruments for economic development, particularly for creating jobs in minority communities of high unemployment.

Q23. 
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Question #21.  146-01
(22211-!-item-!-188;#058&000146-01)

The primary purpose of the passage is to

(A) discuss historical changes in a government policy

(B) describe the role of Congress in regulating the work of the SBA

(C) contrast types of funding sources used by minority businesses

(D) correct a misconception about minority entrepreneurship

(E) advocate an alternative approach to funding minority entrepreneurs 

Q24. 
p1-rc
Question #22.  146-05
(22257-!-item-!-188;#058&000146-05)

It can be inferred that the "ownership gap" (see highlighted text) would be narrowed if which of the following were to occur?

(A) Minority entrepreneurs received a percentage of government contracts equal to that received by nonminority entrepreneurs.

(B) Middle- and high-income minority entrepreneurs gave more assistance to their low-income counterparts in the business community.

(C) Minority entrepreneurs hired a percentage of minority employees equal to the percentage of minority residents in their own communities.

(D) The percentage of self-employed minority persons rose to more than ten percent of all self-employed persons.

(E) Seventeen percent of all persons employed in small businesses were self-employed. 

Q25. 
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Question #23.  146-06
(22303-!-item-!-188;#058&000146-06)

According to the passage, in 1970 funding to minority entrepreneurs focused primarily on which of the following?

(A) Alleviating chronic unemployment in urban areas

(B) Narrowing the ownership gap

(C) Assisting minority-owned businesses with growth potential

(D) Awarding subcontracts to businesses that encouraged community development

(E) Targeting the most economically disadvantaged minority-owned businesses 

Q26. 
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Question #24.  146-09
(22349-!-item-!-188;#058&000146-09)

Which of the following best describes the function of the second paragraph in the passage as a whole?

(A) It narrows the scope of the topic introduced in the first paragraph.

(B) It presents an example of the type of change discussed in the first paragraph.

(C) It cites the most striking instance of historical change in a particular government policy.

(D) It explains the rationale for the creation of the government agency whose operations are discussed in the first paragraph.

(E) It presents the results of policies adopted by the federal government. 

Q27. 
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39.
(32821-!-item-!-188;#058&006413)

After its customers complained about being pressured to buy unneeded insurance, an insurance agency stopped rewarding its agents for high sales volume and instead gave them bonuses for high levels of customer satisfaction.  Under this new plan, both customer satisfaction and the insurance agency's sales increased.

Each of the following, if true, helps to explain how the change in incentives for agents could have resulted in increased sales EXCEPT:

(A) Customers were so pleased that the insurance agency had responded to their complaints that they recommended the agency to their friends.

(B) Agents listened more closely to customers of long standing and were able to sell them additional insurance policies that met new needs.

(C) Agents more frequently postponed completing the attendant paperwork even after the terms for an insurance policy were settled to the satisfaction of the client.

(D) Dissatisfied customers of other agencies, attracted by the reports of the change in agency policy, became customers of the agency.

(E) Having come to trust the increased judiciousness of the agents' recommendations, customers approached the agency to discuss and ultimately to buy more supplementary insurance than they previously had bought under pressure.
Q28. 
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54.
(27343-!-item-!-188;#058&003156)

Unlike using spices for cooking, in medicinal usage they are taken in large quantities in order to treat particular maladies.

(A) Unlike using spices for cooking, in medicinal usage they are taken

(B) Unlike spices that are used in cooking, in using spices for medicine, they are taken

(C) Unlike cooking with spices, taking spices for medicinal use is done

(D) In cooking, small quantities of spices are used, whereas in medicinal usage spices are taken

(E) In cooking, the usage of spices is in small quantities, whereas in medicinal usage they are taken

Q29. 
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40.
(32869-!-item-!-188;#058&006461)

Columnist:  People should avoid using a certain artificial fat that has been touted as a resource for those whose medical advisers have advised them to reduce their fat intake.  Although the artificial fat, which can be used in place of fat in food preparation, has none of the negative health effects of fat, it does have a serious drawback:  it absorbs certain essential vitamins, thereby preventing them from being used by the body.

In evaluating the columnist's position, it would be most useful to determine which of the following?

(A) Whether increasing one's intake of the vitamins can compensate for the effects of the artificial fat

(B) Whether the vitamins that the artificial fat absorbs are present in foods that contain the fat

(C) Whether having an extremely low fat intake for an extended period can endanger the health

(D) Whether there are any foods that cannot be prepared using the artificial fat as a substitute for other fats

(E) Whether people are generally able to detect differences in taste between foods prepared using the artificial fat and foods that are similar except for the use of other fats
Q30. 
p1-cr
41.
(32917-!-item-!-188;#058&006462)

In the two years following the unification of Germany in 1989, the number of cars owned by residents of East Germany and the total distance traveled by cars in East Germany both increased by about 40 percent.  In those two years, however, the number of East German residents killed each year as car occupants in traffic accidents increased by about 300 percent.

Which of the following, if true, most helps to explain the disproportionate increase in traffic fatalities?

(A) The average number of passengers per car was higher in the years before unification than it was in the two years after.

(B) After unification, many people who had been living in East Germany relocated to West Germany.

(C) After unification, a smaller proportion of the cars being purchased by East German residents were used vehicles.

(D) Drivers who had driven little or not at all before 1989 accounted for much of the increase in the total distance traveled by cars.

(E) Over the same two-year period in East Germany, other road users, such as motorcyclists, bicyclists, and pedestrians, experienced only small increases in traffic fatalities.
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55.
(27389-!-item-!-188;#058&003179)

Shipwrecks are more likely to be found undisturbed at great depths than in shallow coastal waters, which exposes archaeological remains to turbulence and makes them accessible to anyone in scuba gear, whether they be archaeologist, treasure hunter, or sport diver.

(A) than in shallow coastal waters, which exposes archaeological remains to turbulence and makes them accessible to anyone in scuba gear, whether they be

(B) than in shallow coastal waters, where archaeological remains are exposed to turbulence and are accessible to anyone in scuba gear, whether

(C) as opposed to shallow waters along the coast, where archaeological remains are exposed to turbulence and are accessible to anyone in scuba gear, including

(D) instead of in shallow waters along the coast, which exposes archaeological remains to turbulence and makes them accessible to anyone in scuba gear, including an

(E) instead of shallow coastal waters, because it exposes archaeological remains to turbulence and makes them accessible to anyone in scuba gear, whether
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42.
(33427-!-item-!-188;#058&006865)

Editorial:

Regulations recently imposed by the government of Risemia call for unprecedented reductions in the amounts of pollutants manufacturers are allowed to discharge into the environment.  It will take costly new pollution control equipment requiring expensive maintenance to comply with these regulations.  Resultant price increases for Risemian manufactured goods will lead to the loss of some export markets.  Clearly, therefore, annual exports of Risemian manufactured goods will in the future occur at diminished levels.

Which of the following, if true, most seriously weakens the argument in the editorial?

(A) The need to comply with the new regulations will stimulate the development within Risemia of new pollution control equipment for which a strong worldwide demand is likely to emerge.

(B) The proposed regulations include a schedule of fines for noncompliance that escalate steeply in cases of repeated noncompliance.

(C) Savings from utilizing the chemicals captured by the pollution control equipment will remain far below the cost of maintaining the equipment.

(D) By international standards, the levels of pollutants currently emitted by some of Risemia's manufacturing plants are not considered excessive.

(E) The stockholders of most of Risemia's manufacturing corporations exert substantial pressure on the corporations to comply with environmental laws.
Q33. 
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56.
(27435-!-item-!-188;#058&003186)

First discovered more than 30 years ago, Lina's sunbird, a four-and-a-half-inch animal found in the Philippines and that resembles a hummingbird, has shimmering metallic colors on its head; a brilliant orange patch, bordered with red tufts, in the center of its breast; and a red eye.

(A) found in the Philippines and that resembles

(B) found in the Philippines and that, resembling

(C) found in the Philippines and resembling

(D) that is found in the Philippines and it resembles

(E) that is found in the Philippines and that, resembling

Q34-Q37

Essay #8.  147
(22358-!-item-!-188;#058&00147-00)

In terrestrial environments, gravity places special demands on the cardiovascular systems of animals.  Gravitational pressure can cause blood to pool in the lower regions of the body, making it difficult to circulate blood to critical organs such as the brain.  Terrestrial snakes, in particular, exhibit adaptations that aid in circulating blood against the force of gravity.

The problem confronting terrestrial snakes is best illustrated by what happens to sea snakes when removed from their supportive medium.  Because the vertical pressure gradients within the blood vessels are counteracted by similar pressure gradients in the surrounding water, the distribution of blood throughout the body of sea snakes remains about the same regardless of their orientation in space, provided they remain in the ocean. When removed from the water and tilted at various angles with the head up, however, blood pressure at their midpoint drops significantly, and at brain level falls to zero.  That many terrestrial snakes in similar spatial orientations do not experience this kind of circulatory failure suggests that certain adaptations enable them to regulate blood pressure more effectively in those orientations.

One such adaptation is the closer proximity of the terrestrial snake's heart to its head, which helps to ensure circulation to the brain, regardless of the snake's orientation in space.  The heart of sea snakes can be located near the middle of the body, a position that minimizes the work entailed in circulating blood to both extremities.  In arboreal snakes, however, which dwell in trees and often assume a vertical posture, the average distance from the heart to the head can be as little as 15 percent of overall body length.  Such a location requires that blood circulated to the tail of the snake travel a greater distance back to the heart, a problem solved by another adaptation.  When climbing, arboreal snakes often pause momentarily to wiggle their bodies, causing waves of muscle contraction that advance from the lower torso to head.  By compressing the veins and forcing blood forward, these contractions apparently improve the flow of venous blood returning to the heart.

Q34. 
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Question #25.  147-01
(22404-!-item-!-188;#058&000147-01)

The passage provides information in support of which of the following assertions?

(A) The disadvantages of an adaptation to a particular feature of an environment often outweigh the advantages of such an adaptation.

(B) An organism's reaction to being placed in an environment to which it is not well adapted can sometimes illustrate the problems that have been solved by the adaptations of organisms indigenous to that environment.

(C) The effectiveness of an organism's adaptation to a particular feature of its environment can only be evaluated by examining the effectiveness with which organisms of other species have adapted to a similar feature of a different environment.

(D) Organisms of the same species that inhabit strikingly different environments will often adapt in remarkably similar ways to the few features of those environments that are common.

(E) Different species of organisms living in the same environment will seldom adapt to features of that environment in the same way. 
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Question #26.  147-02
(22450-!-item-!-188;#058&000147-02)

According to the passage, one reason that the distribution of blood in the sea snake changes little while the creature remains in the ocean is that

(A) the heart of the sea snake tends to be located near the center of its body

(B) pressure gradients in the water surrounding the sea snake counter the effects of vertical pressure gradients within its blood vessels

(C) the sea snake assumes a vertical posture less frequently than do the terrestrial and the arboreal snake

(D) the sea snake often relies on waves of muscle contractions to help move blood from the torso to the head

(E) the force of pressure gradients in the water surrounding the sea snake exceeds that of vertical pressure gradients within its circulatory system 
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Question #27.  147-07
(22496-!-item-!-188;#058&000147-07)

The author suggests that which of the following is a disadvantage that results from the location of a snake's heart in close proximity to its head?

(A) A decrease in the efficiency with which the snake regulates the flow of blood to the brain

(B) A decrease in the number of orientations in space that a snake can assume without loss of blood flow to the brain

(C) A decrease in blood pressure at the snake's midpoint when it is tilted at various angles with its head up

(D) An increase in the tendency of blood to pool at the snake's head when the snake is tilted at various angles with its head down

(E) An increase in the amount of effort required to distribute blood to and from the snake's tail 
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Question #28.  147-09
(22542-!-item-!-188;#058&000147-09)

In the passage, the author is primarily concerned with doing which of the following?

(A) Explaining adaptations that enable the terrestrial snake to cope with the effects of gravitational pressure on its circulatory system

(B) Comparing the circulatory system of the sea snake with that of the terrestrial snake

(C) Explaining why the circulatory system of the terrestrial snake is different from that of the sea snake

(D) Pointing out features of the terrestrial snake's cardiovascular system that make it superior to that of the sea snake

(E) Explaining how the sea snake is able to neutralize the effects of gravitational pressure on its circulatory system 
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57.
(27481-!-item-!-188;#058&003189)

The Anasazi settlements at Chaco Canyon were built on a spectacular scale with more than 75 carefully engineered structures, of up to 600 rooms each, were connected by a complex regional system of roads.

(A) with more than 75 carefully engineered structures, of up to 600 rooms each, were

(B) with more than 75 carefully engineered structures, of up to 600 rooms each,

(C) of more than 75 carefully engineered structures of up to 600 rooms, each that had been

(D) of more than 75 carefully engineered structures of up to 600 rooms and with each

(E) of more than 75 carefully engineered structures of up to 600 rooms each had been
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58.
(27527-!-item-!-188;#058&003203)

Both weakened by concern about the government's agreement with the International Monetary Fund and by growing fears of a rise in inflation, the country's currency continued its slide to a record low against the dollar, which forced the central bank to intervene for the fourth time in a week.

(A) Both weakened by concern about the government's agreement with the International Monetary Fund and by growing fears of a rise in inflation, the country's currency continued its slide to a record low against the dollar, which forced

(B) Both concern about the government's agreement with the International Monetary Fund and the growing fears of a rise in inflation weakened the country's currency, continuing its slide to a record low against the dollar, which forced

(C) Both because it was weakened by concern about the government's agreement with the International Monetary Fund and by growing fears of a raise in inflation, the country's currency continued its slide to a record low against the dollar, forcing

(D) The country's currency, weakened both by concern about the government's agreement with the International Monetary Fund and by growing fears of a rise in inflation, continued its slide to a record low against the dollar, forcing

(E) The country's currency, weakened by both concern about the government's agreement with the International Monetary Fund and growing fears of a raise in inflation, continued its slide to a record low against the dollar, which forced
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43.
(33475-!-item-!-188;#058&006874)

Paint on a new airliner is usually applied in two stages:  first, a coat of primer, and then a top coat.  A new process requires no primer, but instead uses two layers of the same newly developed coating, with each layer of the new coating having the same thickness and weight as a traditional top coat.  Using the new process instead of the old process increases the price of a new aircraft considerably.

Which of the following, if true, most strongly indicates that it is in an airline's long-term economic interest to purchase new airliners painted using the new process rather than the old process?

(A) Although most new airliners are still painted using the old process, aircraft manufacturers now offer a purchaser of any new airliner the option of having it painted using the new process instead.

(B) A layer of primer on an airliner weighs more than a layer of the new coating would by an amount large enough to make a difference to that airliner's load-bearing capacity.

(C) A single layer of the new coating provides the aluminum skin of the airliner with less protection against corrosion than does a layer of primer of the usual thickness.

(D) Unlike the old process, the new process was originally invented for use on spacecraft, which are subject to extremes of temperature to which airliners are never exposed.

(E) Because the new coating has a viscosity similar to that of a traditional top coat, aircraft manufacturers can apply it using the same equipment as is used for a traditional top coat.
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59.
(27573-!-item-!-188;#058&003208)

A new genetically engineered papaya was produced not by seed companies who have been motivated by profit, which was the case with most genetically modified crops previously approved for commercial use, but university and United States Department of Agriculture researchers who allowed growers to use it free of charge.

(A) produced not by seed companies who have been motivated by profit, which was the case with most genetically modified crops previously approved for commercial use, but

(B) produced not by profit-motivated seed companies, the case with most genetically modified crops previously approved for commercial use, but

(C) produced not by profit-motivated seed companies, as was the case with most genetically modified crops previously approved for commercial use, but by

(D) not produced by profit-motivated seed companies, which was the case with most genetically modified crops previously approved for commercial use, but was produced by

(E) not produced by seed companies who have been motivated by profit, the case with most genetically modified crops previously approved for commercial use, but by

